. Q1

BB (P33 ORI 053 T3 0D X ) 993 M3 13 B0
IMID DT S0XEn 131 B bY AR P awn e b by b
MM T Teps pwba obpan ana oo mmnb pxe Y3 e 9D
MY PN I DR PN 0D RN SER o ped MR e o
N mon DR by MpTEm maman Sobswd po pn oy
By OP0R o Imbwon wnan mbem ey oy — — ovnam
PDINI IEpR w1 Laynd o 83 &wn q8ER 522 bN N 00N
Do 5wk 5; obw 3 pax Hran 290 M) Ddw T AN

Joyena
0 7300) 2N 2P0 wanb Y3 vewya MYNIND nd nhoh

PPN Poo YD Oy
f(ﬁPBM D>%33) BT O DY Ywnn Dann 3% ey

(mp 7)

pYiIL  ped 1o ©ldp3 prpacpy D pvs wupd Py P —
P13 jfrDd ' p TIPD wphe Dm pp Mads ,Doup piEb Dpys
g 55 ,0ipD buop 1h f3na: Sl bl shy By 3T ahan) e
WD pb O D3 H1I3 2 DXOPS PRI 17 T RIS
P ©Lor3 ©UIPI 'pEEp DD 'Y go 1w dhIWd 0 Y o'm
w3 2 b3dr 7pH Do Py D eds omE oawE phiy
opp ph S3b hww qo7p poum S fap ple vy b o o
0 B p'm ;w3 b ;b oy 503 oaIp 7PH OIPP MW ok O
0P8 ES3 wm f3w bL ph v DP9 ©Yop DI
(6"v 65 php) ey ohfr 4D P 3. HIIP 7 bAYs BY 7D —
D13 IWPM 4IP3 0D s P0bT 969 WSy 3p31 D1 "D X3 3w
oppd by QDY) #P3L 399 1MV SLNL 3 1PPT "D Yopy 'y 0% — 3"90m
907 9pv 25 DEp B0 (3 1D P30y BV 4P PIPD) e 3790m oL
P3 bp17 bk pac Bd S qen avo oo 03 0y paon (3 W'D pov)
p"p P'3) YEI O 4bbupce i3 ore Jou MIp IV YD — .pEned
3900 D' wwab pei3y wied o *> ope 30 (3

'3 03 oL oobP 9390 BME PP PrpRd Sy g ('3
3'v1h) — 57> 97D Ly 5 pr3p1 mpopy 6Ld o '3 §63 "£9 019D
b5 ey £ned 3 Swe (3" 6P 9'3) Y7 ‘v ohb accon pEb p PEWS
9bc 3’0 owr ph pele coe Spe 6P wPd ap3 wpd 403 21, o
PIDID v P3P PPoN3 PopE by MwpD Lom 3" oL - .£'Y D390 Obp



